54 Trefftz med)hod(

Trefftz method

N2u(x)=0, xI D

()
u(x) =cos(3y), xI B /
5/{.‘2?!3!!?

(&) By choosing T-complete set, Inr, 1cosq , 1sinq , iZCOSZq , izsin 2 , find
r r r r

the Trefftz solution using the point collocation approach.

(b) By choosing T-complete set, Inr, lcosq , 1sinq : izcoqu , izsin 2,
r r r r

1

r—scosfi} : r%s’n 3, %cos4q , —Sn 4q , find the Trefftz solution using the

1
r
point collocation approach.

Extend the HW2 to exterior problem (Two cases r=1andr =2)

u(x)=In2 +écos(31), xI B

. 1
Ans  Exactsolution  u(r,q) =Inr +—-cos : '
= S .‘:”//’//
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